A & 0l & AF 8 A M
20238 =0l &F LEHSIH QHE X| =1t
SA QM X =1t
A Wolgts QRS TAIZL
el THoll AF&CHYI (Ste: &)
SA - HE - SRI(EH) - NRAY - BES of &t T HIDE2
OHM X =1t 13,320,275 10, 169, 140 3,151,135
Al 8,890
T 13,311,385
Moligtes etd st T Al2tel 1,848,964 1,208,836 640, 128
Al 8,890
- 1,840,074
THoH ARSI CHH] 127,763 120,563 7,200
Saoff N M = 127,763 120,563 7,200
201 Zer2d| 106,763 99,563 7,200
01 At22teltl 52,748 46,148 6,600
N=Yusits S M 7,000 *140% 980
N=LEZS M 3,340
2oy M 1002 *14,0000H 1,400
2)01 1,800 *100H 180
2)QtLy ket 880,000 2K 1,760
NEE2E g2 ME 528
8L Y 8,200 +8m* +50H 328
2)EE X 1002 *2,0000H 200
==X 0 21,480
2)P.POILH(B) 4003 *20,000& 8,000
2)P.POCH(A) 2502+20,000% 5,000
2)PEHIE 34,0003 +502 1,700
2)P.p2 1,200 *100E+2H 120
2)xlgs=s 1,200 +50H 60
2) 2 HOtHCH 2,200 +3,000HK 6,600
N=2AIdE |2 2,730
)& 9,000 +50H 450
2)=30| 20,000 *50H 1,000
2)=¢ 38,8002 10074 380
2)ENES(HEH2IZE) 8,000 *50H 400
)N SS(BHECIZE) 10,0002 *50H 500
NExol =8 SAA =&
200,000 x2H*42 1,600
Na=FLctE2ALIARYE 2L+E
70,0002 x3ZH+53] 1,050
N=a=2a2td 1=t 13,000
2)45t9Al 29 10,0002 +250& 2,500
2)DEA 29 10,0002 +250& 2,500
b R 50,000& »402¢ Kt 2,000
2) &AL E S 12,0003 *150= 1,800
2)¢=ast 12,0002 «150= 1,800
2)Z2(Bt2d) 2003 *12,000Z cll 2,400
1)212&Hl ol 8,040




2A:

S THol iz CHMEH T Al2t2|
Sl THoH ArMCHI (CHel: &)
A BB (B) - MIRAY - BAS Ofl bt T B RS2
2)E 31 (18] BAIZHI|=E)
720,000 *3CH*23] 4,320
)9 E (13| 8AIZHIE)
620,000& *3CH*23 3,720
02 323l 54,015 53,415 600
NSASEAAE SURS
20,000,000& 20,000
DERNE=EET] 1,100,000& *13l 1,100
NtesXzelt(SF0l,+=2/H-32)
3,000,000 *1CH 3,000
NExol BE8= 320,000& *43| 1,280
NESSAEH S22l
20,0002 x7001 262 8,400
NI S22 50,0002 *82CH 4,100
1OIEIASAIAE SRS (63M4)
1,010,000& =123 12,120
N&EIILZ(CCTV S 3BML) 3,055
2122 910 *3kwx339H A+ 12 *1 . 1 1,190
2)dEe 2 88.32 *1,600kwh* 122 *1 .1 1,865
Dot 2 =2/H Y 22
40,0002 +20H* 128 960
203 E R F=&Y| 1,000 1,000
03 Al =X HRFZIH| 1,000 1,000
n2tes 94 U239 1,000,000& 1,000
302 OI=H Mo 242 20,000 20,000
02 BIZIITHGHE =& S22 43 20,000 20,000
NES=LIoHIT MRS X3
2,000,000 * 109+ 20,000
SESELY 22 2 7Al2 122,677 104,835 17,842
SSEZY 29 2 sX2e 122,677 104,835 17,842
201 LEt23H| 81,727 80,735 992
02 =244l 81,727 80,735 992
nNEJetE AL =z 8,820
)5S BOIA(NY)
140,500 122 *1. 1 1,855
2)EXS BIZ(1Y)
637, 1003 x6& *1.1 4,205
2)EES MBX(1Y)
418,100 x6&*1. 1 2,760
NI BANE(EHSUSHEE) 962
)HHRI(EES)
3912 *x230%kw* 101 2 %1, 1 103
2)123(553S)
94,000 * 10 2*1.1 104
2)HELZ(MFKI)
3083 *550kwx 1 A *1 .1 187




SN QR4
I Mollgls oSt ZAl2tel
el A=ELY 28 2 72 EER-E)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
21223 (M)
516,000 *1JHA*1 .1 568
Nttt 2 (SdUSELY) 1,949
JERS
(167,500 +750kw*2CH* 1,089 )*1.1 1,949
NUSUEE S +YALS HZAL 2
254,501 36O A 1,528
N=S2HBZ 2l 900,000 *11CH 9,900
NHIAZHAD| SF| 1,845 +75L#2CH 277
NEZE & JHAE 3= 46,470
QUABEVLA(SHSE L) 21,055
2R3 7,220 *366kw 6 *1. 1 17,441
JNHBHRS 109.52 5, 000kwh*6Z *1. 1 3,614
LABENLASSSHFA) 4,832
ez 7,220 x0kw+6E *1. 1 4,289
JNEBHR S 109. 53 *750kwh*6E *1. 1 543
QUABNL(SSSELY 2| 2H2) 8,014
PNERS 5,550 »105kwx 128 %1.1 7,693
JNHBERS 80.9& *300kwh* 128 % 1.1 321
LB BLNL(SSSELY 2| i) 12,569
2R3 6, 1602 *8okw+12& %11 6,993
THARS
105.63 *4,000kwh* 12 1.1 5,576
N=ELS(MSANELE 2 20H4)
1,270 258 *3 4 262 572
Not+ELS(MBXEZHE 2 2044 )
7303 *25E+3H A 6E 329
NRHLBHI MEE(ESS MFA)
80,000& * 11 A+ 128 960
NEZY SURS(ESx1 2t0], FHZAl
HIot) 80,000& * 14 2+ 122 960
NEZE X2l 3,000,000 *37H 2 9,000
203 PR =4H| 600 600
03 A=A 22| 600 600
Nelsgsy gRFa 600,000 600
401 Al HIL S CHEI 40,350 23,500 16,850
01 Al 40,350 23,500 16,850
NYESELY - SHEJIBAEERNES
20,000,000 * 14! 20,000
NelsEny Jedd 89
20,350,000 » 14 20,350
otd S Ald=2 |Al2el 1,598,524 983,438 615,086
Al 8,890
- 1,589,634
StEAIEE FH 851,506 947,406 /95,900




2A:

I Mollgles oSt ZAl2tel
Chel: ofd S AEE |2 EERSE)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
201 82| 25,596 21,496 4,100
02 =294l 25,596 21,496 4,100
3383 19,096
AUSEILE HIIRS
60,0003 *1H A+ 123 720
)= #IIe=s
200,000 *204 A5 2,000
DEAN 4423
200,000 »2)f A x5 2,000
2)JtsE M| 50,0003 100 A+ 128 600
)2 =¥ M|
70,0003 *30H 2=x 122 2,520
2240 4423
100,000 »2)H 2462 1,200
2128 MIIR3(R01H) 10,056
==
6,290 +0.05kw*398S* 123 % 1.1 1,653
3)dHE RS
80.92 0. 05kwh*398 S+ 13A| 2Fx365&! %1 . 1
8,403
1Bt 2+ S22l
2,500,000 +27H 2= 5,000
NUHSHENELEEH 282
500,000& 12 500
NEXES HAMUEE WIRES
500,000& *22] 1,000
203 PR =8H| 1,500 1,500
03 AIFA AR =AY 1,500 1,500
oA S FA2e] YRFE
1,500,000& 1,500
308 AHXISHHMSO0IH 120,000 120,000
07 MAH2L2RE =S 120,000 120,000
NROIE |FXNES 22
120,000,000 120,000
401 AlEHIZL SO 704,410 804,410 100,000
01 Al£H| 700,000 800,000 100,000
1)SIEAIE S FHISA
700,000,000 * 14 700,000
03 A2 20 bI 4,410 4,410 0
1SAZE AIZ 20
700,000, 000& +0.63% 4,410
Not=2ZAIE Y QAL S22 (EX) 37,182 36,032 1,150
Al 8,890
- 28,292
201 Zer2d| 19,782 22,432 2,650
Al 3,850




2A:

I Mollgles oSt ZAl2tel
Chel: ofd S AEE |2 EERSE)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
- 15,932
02 3324l 19,782 22,432 2,650
NHIdE AL HIIR3 3,612
201223 6, 1603 *5kw+7IH A x 122 1.1 2,846
)HHERI
90 +80kwh*7IH A+ 12 1.1 666
NHIdS=AIE X2l
1,100,000 #7042 7,700
Al 3,850
- 3,850
NASt=2 X222 [ 2L
800,000 8K 2 6,400
NXot=E2X2EY 2l
250,000 74 A 1,750
NIt EAE RUSLRS
5,000 *7 1 A+ 128 420
203 BR8] 600 600
03 AIF=T AR =LY 600 600
NelgelssAld 2l dRFD
600,000 600
401 AlEHIZ SO 16,800 13,000 3,800
Al 5,040
- 11,760
01 Al&H| 16,800 13,000 3,800
NelgRIgsAld 2EHA
2,800,000 «6IH 2 16,800
Al 5,040
- 11,760
O XNELZ ZHEF e A Y 150,000 150,000
401 AlEHIZL SO 150,000 150,000
01 Al£HI 150,000 150,000
NR0I ZEUE ZHEH e
150,000,000 150,000
018 =5=210ts €8 U2 THEAEY 350,000 350,000
401 AlEHIZL S0 350,000 350,000
01 Al 350,000 350,000
o2 & AAEAEA]
350,000,000& 350,000
LOlE Hotu =8 4F NS 2 8352 x4 209,836 0 209,836
401 AlEHIZL SO 209,836 209,836
01 Al£H| 209,836 209,836
ol & AAEHEA
159,836,000 *14] 159,836
NOE2XY & U2tz £X 50,000
2)1ExY &X 2,000,000 *57H 2 10,000




OFEI X| 4 Tt
WaHgts OrMst T Al2H2]
old S AME=2 =X&cl 2 M)
SA - HE - O(BH) - MRAY - B2 Ofl ko4 ST =2
||| 2=z gx 40,000,000 %14 40,000
ShdlUtAl gl &5 2 HH| 8,880,406 6,400,824 2,479,582
St HHl ¥ FEAY K& =T 8,880,406 6,400,824 2,479,582
steAldE 24 2,364,994 1,724,508 640,396
201 LErE | 58,839 57,863 976
01 At 22| t] 16,959 16,959 0
226 93 7Y S 104, 25021 +87H 834
226 21 7€ S 36,5002+ 1004 365
1)5t+&1D 488 2
1,000,00024%13] 1,000
1) S 2|
8, 0002 * 182 x241x302 8,640
1) 23HHI S A 25,0002+ 182 x23] 900
NAg22l2 TS| 5,220
HECE 70,0008 182413l 1,260
2)0HM 3t 70,0008 182 13] 1,260
2)*9l 8 ¥3 70,0002 % 18213 1,260
2) st 80,0002 182413l 1,440
02 ZZ2| 41,880 40,904 976
1)AEHE g3l 760,0002! 13! 760
NSHEAIEE 2R (DIRYS)
1,018,000 1,018
1)0I& Xt 1,394
2)RRBI(FLR) 1,80024*110L+3CH 504
AT 100, 00024 *4CH 400
2)%-21tl 100, 00021 %43 400
1A SXIUI(5H4&D)
4,000,00021%14] 4,000
1)5H310 B2 11,600
HEPIpIET=E= 6,350 8! bkwx 122 *1. 1 420
)3 17021%1,350knh+ 128 %1 1 3,080
2)A+E23 B50I+BE0E 6 *1 . 1 2,360
)5tz 23 B0 +BE0E 6 *1 . 1 2,178
2)AZBI(EAIDIA) B0 %240 M <0 2,052
2)ROIZHIN AL ARE
130, 0008 128 1,560
AEX(E) KX 15,208
Q2SR 800,000 *4CH 3,200
)RS THAI 130, 00021 *4CH 520
2)Z A 70,0008 4CH 280
2)1ZHI(AR) 1,40021» 140L#4CH < 122 9,408
2)ARE Y Ha 200, 0008 #43] 800
AN 23 250,000 *43] 1,000




S OHE K| %Dt
I ot=JIEAIEL &E 2 FH|
el ot Bl E EEAMY XE F4A CEREED
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
NZZXALE CCTV =2l 800,000 *3CH 2,400
1)A2 28| 300,000 « 18 5,400
NI E 3] 50,0003 *2& 100
203 BRF&H 2,380 2,080 300
03 Al AR F=H| 2,380 2,080 300
Not=AIES Sl S 2E3
1,300,000 1,300
1)ot=AlE2te| | 2tE 3
30,0002 182 +23] 1,080
206 =4l 89,000 89,000
01 H=HI 89,000 89,000
Not=Al22 FXI2tel 74,760
YEUWE £ ¥ By
268,000 x3X+ 122 9,648
2)sl220l £ & 2 (1,000mm)
76,0002 x10E+ 122 9,120
2820l £ & & (500mm)
43,0002 x10&+ 128 5,160
2) S0l AHLXD|
68,0002 *470K 31,960
2)2eH 44,0002 <70 3,080
2)NRIE 6,500 *170CH 1,105
2)85tE 13,5002 *400% 5,400
2)OtAEESFI 205,000 x1=8 205
2) 0|32 2(D=300mn) 42,0003 x120m*14] 5,040
ARIETR(Y S 58) 1,602,0002 %14 1,602
2)A&HII2Hell| 61,0002 40m’ 2,440
NAE0IE (ZHAEHA SH;E)F2+
O 5,940
2)AEe01E S2(500mm)
52,000 *207K 1,040
)A€ 801 S=2&(1,000mn)
98,0002 *50H 4,900
NRAS SIS0l S2Z-20H(1,000mm)
166,000 *50H 8,300
303 Zaf= 2,560 2,860 2300
01 Za= 2,560 2,860 A300
13RE MY =5t 70,0002 *18H 1,260
1A AIE 1,300,000& %1 1,300
401 Al HI L S CHYI 2,207,920 1,505,400 702,520
01 Al 2,200,000 1,500,000 700,000
Not=AIES 2 SA
2,200,000,000& *14] 2,200,000
03 Al2=THHI 7,920 5,400 2,520




S OHE K| %Dt
I ot=JIEAIEL &E 2 FH|
el ot Bl E EEAMY XE F4A CEREED
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
13ARZE Al RO
2,200,000,000&*0.36% 7,920
405 Ab&HF SHI 4,295 67,395 263,100
01 A =S FH S| 4,295 67,395 63,100
1g==E3t0lct 382,060 +2CH 765
NEHE 88 520,000 1CH 520
NEd0eteld 640,000 *1CH 640
NS Ak 790,000 *1CH 790
NEZ2OEII(SHE) 1,580,000 *1CH 1,580
ot =4 1,529,340 1,030,240 499,100
201 g2l 23,040 23,040 0
02 S3=4Hl 23,040 23,040 0
NELIN(22E 2 & =2l)
970,000& x1225+13] 11,640
NEL)| 282 950, 000& *12CH 11,400
203 PR =] 900 900
03 Al F=H R =AY 900 900
ot ZLEER 293 900,000 900
401 Al HIL S CHYI 1,505,400 1,006,300 499,100
01 A2l 1,500,000 1,000,000 500,000
Not=E &8 3 1,500,000,000& *14] 1,500,000
03 Al2 = THHI 5,400 6,300 2900
1SARZE AIZ2 0]
1,500,000, 000& +0.36% 5,400
otz HLEH EH 170,010 0 170,010
401 AlZHIZL S0 170,010 170,010
01 AlZHI 170,010 170,010
1)ot=tis F2E 29
170,010,000 *14] 170,010
S otr-iMs ZJUISA 1,196,792 503,600 693,192
203 BR=4| 500 0 500
03 Al = ARF=LH| 500 0 500
1)ot=2E FHISA 2tE3 500,000 500
401 AlZHIZL SO 1,196,292 503,600 692,692
01 Al£HI 1,192,000 500,000 692,000
1)5t==2HE FHISA
1,192,000,000& » 14 1,192,000
03 A2 20 HI 4,292 3,600 692
1SARZE AIZ 20
1,192,000,000& *0.36% 4,292
Kot =8 Z=ZXAE EXISA 701,000 1,000,000 A299,000
203 BR=4| 1,000 0 1,000
03 Al FT AR =LY 1,000 0 1,000




SA: OHF

[ =2t
T GIAIIBAIEO 2E U Ty
el SHRO BH ¥ EHAY K& XX (ol H2l)
SA B BRAEH) - HRAY - BAS ofl &ty T HIDE2
NELXAIE & 23 248 S
1,000,000 1,000
401 AIE2HI KL 2T 700,000 1,000,000 /300,000
01 Al 700,000 1,000,000 300,000
oo &1 400,000 *1, 12004 448,000
NAILXIAIE £X 150,000& *1,680H 252,000
eI=Z279Z FH S =T ol=22 FHISA 704,410 704,410
401 AlEHIZL SO 704,410 704,410
01 Al£HI 700,000 700,000
1)ot=2t2 ZHIZA 700,000,000& *14] 700,000
03 Al2=THHI 4,410 0 4,410
NSAR2E AIZ R0
700,000,000& *0.63% 4,410
SHAZ123Z FH S = ol=2=2 ZHISA 603,780 603,780
401 Al HIZ S CHEI 603,780 603,780
01 Al&H| 600,000 600,000
1)5t=2t2 ZHISA 600,000,000& *14] 600,000
03 Al2=THHI 3,780 0 3,780
1NSARZE AIZ2 0]
600,000,000& *0.63% 3,780
QIjatZE2LE F=H S 204 ot=2Z FHISA 805,040 805,040
401 AIEHIZL S0 805,040 805,040
01 Al&H| 800,000 800,000
1)ot=2t2 ZHIZA 800,000,000 » 14 800,000
03 AlZ 2 THHI 5,040 0 5,040
1)SAR2E AIZ S0
800,000, 000& *0.63% 5,040
St 21402 =8 o222 HHISA 805,040 805,040
401 AlZHIZL SO 805,040 805,040
01 Al£HI 800,000 800,000
1ot=2=2 FHISAH 800,000,000 » 14 800,000
03 Al 204l 5,040 0 5,040
1SAZE AIZ 20
800,000, 000& *0.63% 5,040
MO S 2 R 1 427,971 292,867 135,104
Metogr2tel s 235t 427,971 292,867 135,104
s =552 =8 25,105 22,711 2,394
201 Zer2d| 17,620 17,620 0
01 At2t2l bl 8,000 8,000 0
nerdze|3 &l H= 50,0002 x60= 3,000
DS =g AZXE MZ
5,000 %2005 1,000
NHHUSSER 28 ARE L AREE 2
OH 250,000 122 3,000




2A:

QHM X == 10t

e=L RN TS S FE15 V)
=R o 2elsE st EERSE)
A BB (B) - MIRAY - BAS Ofl bt T B RS2
NYEAEMBHAUSAIALY ASTE O
g 5 U N2 ME
5,000& x 100 +23] 1,000
02 E323H| 9,620 9,620 0
Di2eg 28d8s| I3
35,0003 «2CH* 123 840
NLSAOENMUHEEUSAIAY 2HURS
190,000+ 12& 2,280
NASANENHEEUSAIAY S4B |= 1,500
2)EHEA 19,0002 30+ 12& 684
2)8 Y| 17,0002 #4 01+ 123 816
DASANEMHHEHAUSAIAE SAES
H el 1,250,000 *42 | 5,000
203 R F&d| 1,500 1,500
03 Al FX AR F=AY| 1,500 1,500
NHEHSAI |2 (EA S U 2t
250,000 *43] 1,000
D22 AEEOL 2Hg)
250,000 »23| 500
405 RtobE S| 5,985 3,591 2,394
01 AL 2EFHSHI 5,985 3,591 2,394
DA S MY MEUDI| 204
1,197,000 *5CH 5,985
IMZ3 B3 12,920 7,920 5,000
201 et2Z | 10,620 5,620 5,000
01 At 22l | 4,800 4,800 0
NetMEAe ¢ EEE WA
4002 *1,0008+ 123 4,800
03 A2 FHI 5,820 820 5,000
DIHHAIESH R HAISS
2,000&+80H 23| 320
DOIZICHH SH2LSNE 2AIS
250,000& *23] 500
DEODIE AHEFAUNAS AHMIS 2|
500,000& * 103 5,000
203 H R F=&Y| 1,300 1,300
03 Al =X HRFXIY| 1,300 1,300
N2 sF AR AE S 2tE 3l
150,000 23] 300
DNOHNMEHC| < A 2AHIX 24ES
250,000 *43] 1,000
303 ZA& 3 1,000 1,000
01 Z&3 1,000 1,000
NAYEorEX| = ZAZ 200,000 *5H 1,000
MO E = 3,200 3,200 0
201 L EH2 AY| 2,200 2,200 0
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9,000,000& *14] 9,000
NXZIIEEAHSI| =2l
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